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OBsk K& 4 3 15 11 0.750 | 1.364 3. 750 8

BB B 4 2 13 13 ] 0.500 | 1.000 3. 250 13

OB =1 K 4 0 6 20 | 0.000 | 0.300 1. 500 22

Bowrlhm e 4 1 10 19 ]0.250 | 0.526 2.500 19
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A B Al 4 1 8 18 0.250 | 0.444 2. 000 20
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OB A BAMR | 33] 0.600 1. 500 4. 200 7
27— BB |ds sk | 13] 0.600 | 1.059 | 3.600 | 8
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B B[ BEA #iR 5 5 25 6 1. 000 4.167 | 5.000 3
ool Be 5 4 23 14 | 0.800 1.643 | 4.600 7 1 OfrE TN 3 AR
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OB THAR BER 4 1 11 19 0.250 | 0.579 2. 750 7

MBI RO 4 3 19 10 0.750 | 1.900 4. 750 4

HOB|EE B 4 0 13 20 | 0.000 | 0.650 3. 250 10

B B[ LB 4 2 10 17 ] 0.500 | 0.588 2.500 5
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Ok &K 4 3 35 26 | 0.750 | 1.346 8. 750 2
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BA BT [ L B8 15| 0.500 0. 588 2. 500 5
OBk K& 25| 0. 250 0. 600 2. 250 6
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MOB|kE A 2 26 29 0.500 | 0.897 6. 500 3 OBk Hn 31 0.500 [ 0.897 | 6.500 3
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OB B 1 4 4 19 10 1.000 | 1.900 | 4.750 2
BB/ KN 2 4 1 11 19 |0.250 | 0.579 | 2.750 10
M OmlEm % 3 4 2 17 14 ] 0.500 | 1.214 | 4.250 7
OB Al iEh 4 4 0 10 19 0.000 | 0.526 2. 500 11
M OB|FEA PR 5 4 3 18 13 0.750 | 1.385 4. 500 3
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BBk — 3 1 8 10 ] 0.333 | 0.800 | 2.667 9
wWomlm)y = 3 3 15 3 1.000 | 5.000 | 5.000 1

BB AT BKER 3 0 0 15 0.000 | 0.000 | 0.000 13
OBl e 3 2 11 6 0.667 | 1.833 | 3.667 5
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A Bl g 3 2 14 7 0.667 | 2.000 | 4.667 4

B Br|Fnm ygzEst 3 0 4 15 0.000 | 0.267 | 1.333 12

I S 3 1 13 10 0.333 | 1.300 | 4.333 8

A BlEA M 3 2 13 12 0.667 | 1.083 | 4.333 6
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MoOm) s 4 1 8 17 | o0.250 | 0.471 | 2.000 9
A Bl g 4 3 18 12 0.750 | 1.500 | 4.500 3
A Bl R 4 2 17 12 0.500 | 1.417 4. 250 5
OB Pe B 4 3 17 11 0.750 | 1.545 4. 250 2
B A — 4 1 11 19 0.250 [ 0.579 2. 750 8
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A B’ OF 4 \4 TD TR | V. M| TD/TR | TD/M |JE A%
OB B 4 20 7 1.000 | 2.857 5. 000 1
HOB|TFHA EEX 1 14 15 0.250 | 0.933 3. 500 7
HOBEA ME 3 18 17 0.750 | 1.059 | 4.500 4
HoOBltem % 2 16 15 0.500 | 1.067 4.000 6
A TN 0 6 20 0.000 [ 0.300 1. 500 10
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R4 #®OF & |[No| V. M| TD/TR | TD/M | JNENE
OB W) sERE 22| 1.000 | 5.000 | 5.000 1
OB B 11] 1.000 | 1.900 | 4.750 2
M OB|FEA X 15[ 0.750 | 1.385 | 4.500 3
OBk 31| 0.667 | 2.000 | 4.667 4
A B R 24| 0.667 | 1.833 | 3.667 5
A BlEA ME 34| 0.667 | 1.083 | 4.333 6
S 13] 0.500 | 1.214 | 4.250 7
OB Bt 33] 0.333 | 1.300 | 4.333 8
BOE|A L — 21| 0.333 | 0.800 | 2.667 9
AN PN 12] 0.250 | 0.579 | 2.750 | 10
MOl 14] 0.000 | 0.526 | 2.500 | 11
Bl Br|fnm ygzes) 32| 0.000 | 0.267 1.333 | 12
B BT AAT KRR 23] 0.000 | 0.000 | 0.000 | 13
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OB|kET 120 0.750 | 1.500 | 4.500 3
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A R 13| 0.500 | 1.417 | 4.250 5
AOBfEm % 24| 0.500 | 1.067 | 4.000 6
OB A Bk | 22]0.250 | 0.933 | 3.500 7
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AL g 3 2 13 12 0.667 | 1.083 | 4.333 3

B BT A - 3 1 9 13 0.333 | 0.692 [ 3.000 7
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HOB|kE) 3 15 6 1.000 | 2.500 | 5.000 1

o OmlEm 3% 2 10 12 ] 0.667 | 0.833 | 3.333 4

OB THA R 0 9 15 0.000 [ 0.600 | 3.000 8
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A BlEA M 2 29 36 0.500 [ 0.806 7. 250 3
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OB g 13] 0.667 | 1.083 | 4.333 3
M OBlEm P 23] 0.667 | 0.833 | 3.333 4
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B B |BAAR #hiK 6 4 27 18 0.667 | 1.500 | 4.500 2

OBk &K 6 5 27 17 0.833 | 1.588 | 4.500 1

I B =S ) 6 3 20 26 0.500 | 0.769 | 3.333 5

oA BAER 6 3 20 20 0.500 | 1.000 | 3.333 4

B Bl AR 6 3 23 23 0.500 | 1.000 | 3.833 3

OBk K 6 2 19 24 0.333 | 0.792 | 3.167 6

B B[ Lt B 6 1 19 27 0.167 | 0.704 | 3.167 7
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OBk &K 121 0.833 | 1.588 4.500 1
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